At takeoff, a plane flies at an angle of 10° with the runway. After it has traveled a ground distance of 2,800 feet, find the vertical distance the plane has gained from takeoff.  

A guy wire is attached to a pole for support. If the angle of elevation to the pole is 67° and the wire is attached to the ground at a point 137 feet from the base of the pole, what is the height of the pole (round to the thousandths)?
  

A flagpole is 50 feet from a point on the ground. The angle of depression from the top of 
the flagpole to the same point on the ground is 40°. Calculate the height of the flagpole to 
the nearest foot.

A diver stands on level ground 50 feet from the base of the 12 foot high dive. What is the approximate measure of the angle of elevation between the diver and the diving board (round to the nearest degree)?
  

A kite is flying 70 feet above the ground and is attached to a string tied to a stake on the 
ground. The angle of elevation formed by the string and the ground is 40°. Find the length of the string to the nearest foot.

Which trig expression is equal to sin (72° - a)?
  

A) cos 18°



B) sin 18°

C) cos (90° - (72° - a))
D) sin (90° - (72° - a))

In triangle ABC, sin A = 
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. Which other expression has a value of 
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?
The perimeter of an equilateral triangle is 45 meters. Find the length of an altitude. 

The diagonal of a square is 12 inches. Find the area. 

A parallelogram has sides that are 5 cm and 10 cm long. The measure of the acute angles of the parallelogram is
[image: image3.wmf]o

30

. What are the lengths of its diagonals?
Find the geometric mean of










a)  6 and 12.

b)   
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and 
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c) 
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 and 49.
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Find the value of 
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Find 

a) The measure of Angle Z

b)  The area of the triangle

Altitude:
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